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Questions

The highest waterfall of the world is:

The greatest depth in the Indian Ocean is:

The deepest part of ocean is:

In the composition of earth, aluminum is:

The lowest point of Australia is:

The highest point of Australia is:

Australia contains of the total area of the earth.

What is the total area of Australia?

The lowest point of the Europe is:

The highest point of Europe is:

Answers Choice

A.
B.
C.
D.

A
B.

C.
D.
A
B.
C.
D.
A
B.
Cc
D
A
B
C
D
A
B
C.
D
A
B
Cc
D
A
B
C
D
A
B.
C.
D.
A
B.
C.
D.

Angel Falls
Kaieteur Falls
Victoria Falls
Nigara Falls

Vostok

Sunda Strait
Mariana Trench
Java Trench

Mariana Trench
Java Eyre

Sunda Strait
Puerto Rico Trench

. Caspian Sea

. Lake Eyre

. Valdes Peninsula
. Death Valley

. Mt. Everest
. Mt. Kilimanjaro

Mt. McKinley

. Mt. Kosciusko

. 8,787,901 sq.km
. 7,686,884 sq.km
. 7,891,000 sqg.km
. 8,192,921 sq.km

Death Valley
Valdes Peninsula
Lake Eyre
Caspian Sea

Mt. Elbrus

Mt. Kosciusko
Mt. McKinley
Mt. Aconcagua



